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53 x 60% =

39 x 60% =

12 X 90% =

25 x 80% =

87 x 10% =

98 x 90% =

59 x50% =

56 x 40% =

58 x20% =

60 x 70% =
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93 x 50% =

7% 80% =

95 x70% =

29 x 10% =

71 < 10% =

26 x 40% =

29 x 10% =

14 < 40% =

69 %< 10% =

36 x 30% =

www.snowmath.com



https://www.snowmath.com

Alac S 40 shall caall b

sl

53 x60% = 31.8

39 x60% = 23.4

12 X 90% = 10.8

25 x 80% = 20

87 x 10% = 8.7

98 X 90% = 88.2

59 x 50% = 29.5

56 x40% = 22.4

58 x20% =11.6

60 x 70% = 42
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93 x 50% = 46.5

7x80% = 5.6

95 x70% = 66.5

29 x10% = 2.9

71 x 10% = 7.1

26 x40% = 104

29 x10% = 2.9

14 x 40% = 5.6

69 x 10% = 6.9

36 x 30% = 10.8
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